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PART - | (GENERAL AWARENESS)

1. What is the recent decision of Supreme Court on the role of the Governors?

(a) The Governor can withhold the (b) The Governor must be the harbinger of
Bills for an unlimited period consensus and resolutions
— a catalyst and not an inhibitor
(c) The Governor has no role in assenting  (d) None
the bills sent to him by the State Govt.

2. P. V. Sindhu is not a brand ambassador for -
(@) Puma India (b) Bank of Baroda
(c) Tobacco Control (d) None

3. Whatis|.C.CR?

(@) Indian Council for Cultural Relations  (b) International Council for
Cultural Relations
(c) Inter-state Council for Cultural Relations (d) None

4. What is the minimum age for appointment of a Governor (in years)?
(a) 40 (b) 35
(c) 25 (d) 30

5. What is the role of Sanskrit texts in the context of NEP 20207

(a) They are relevant to modern Education  (b) They are source of ancient wisdom and
knowledge that can be integrated into
various subjects

(c) They are outdated and discarded (d) They have no relevance to the science.

6. The name of the person who survived in the recent plane crash in Ahmedabad?
(a) Ramesh Kulkarni (b) Ramesh Yadav
(c) Ramesh Viswash Kumar (d) None

7. Who is the Minister of External Affairs of India?

(a) Shri Rajnath Singh (b) Shri Narendra Modi
(c) Shri Subrahmanyam Jaishankar (d) Shri Sivrajsingh Chouhan
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T - I (AT SRE%AT)
1. TSATST 1 R TR ar" A d F1 S o5 =41 82
(a) TSI fa8eer 1 rdiffa &y (b) TsauIe ¥ FeHid I Hehod &
% fouw % gFar T IO, AN e ThH TR
(¢) TS TR g 3= Wsl W & (d) i &l
1 990 3 | Teaue i B
IfoepT el ©

2. . 4.Riy Frah sic a6 ¢ -

(a) ST Efea (b) 5% 3ffF T
(c) Twag o0 (d) FIE &

3. AEHHN (ICCR) 41 & 2

(a) YR GiEpias Ge ghug (b) IIUTT HEHdF HIH NI
() AqWAT Hiepias day aiwg  (d) FE &

4. TsauIe 61 TR % fou —mam =g @@ ¥ (It #)?

(a) 40 (b) 35
(c) 25 (d) 30

5.0 2020 F HeW § GeFa Uel 1 0 qfHw 82
(2) T =y fRien % fou uEfies € (b) 3 I =R 99 % uri &g € S5 R
foeeit & @1 whiga foRan S g @

A

(¢) 9 QU ¥R T fau T ¥ (d) ST 99 % W FE gy TE 8

6. T% & § JEHSEE § U A goe # Sffea s =4k w1 W F= g2

(a) YU FSHOM (b) THIT AT
(c) T faam FAR (d) FTE &l
7. YA % faezr @5t %I 82
(a) ot Ty o (b) & g A
(c) & G AL (@) i Rreawsitde ==m
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8. What is the name of the new postal service launched by the Department of Posts for

delivery of educational material?

(a) Shiksha Mail (b) Gyan Post
(c) Bharat Book Post (d) None

9. The difference between GDP and NDP is

10.

11.

12.

13.

14.

15.

16.

17.

(a) Government Revenue (b) Net indirect tax
(c) Net capital formation (d) None

Which temple is known as ‘Black Pagoda’?
(a) Saibaba Temple Shirdi (b) Lord Venkateswara Temple, Tirupati
(c) Brihadeeshwara Temple, Tanjore (d) Sun Temple, Konark
Under NEP 2020, the Holistic Progress Card is introduced to
(a) Track exam score only (b) Replace final report cards
(c) Reflect overall development of student (d) Evaluate teachers
Which bridge connects Dibrugarh in Assam to Pasighat in Arunachal Pradesh?
(a) Naini (b) Bogibeel
(c) Coronation (d) Pamban
Who is called the prophet of new India?
(a) Dayanand Sarawati (b) Raja Ramohan Roy
(c) Shri Ramakrishna Paramahansa (d) Swami Vivekananda

Harihara and Bukka founded which Indian kingdom?

(a) Maratha (b) Pallava

(c) Chola (d) Vijayanagara
Pedagogy is a science which deals with

(a) Teaching (b) Human mind

(c) Language (d) None

PART - 11 (NUMERICAL ABILITY)

Which number is divisible exactly by 11, 13, and 7 ?

(a) 624624 (b) 624642
(c) 626646 (d) None

Simplify and find the value
3+{5—-5+ (6—7)x8+09}
44+4 X4 -40f4
(8 — (b)
© o (d) None
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8. T Tt g Difers arwfht fawor % fow & #1 1 7€ < I F AW F B2

(a) 1em 7@ (b) M e
(¢) MRA T U (d) ®IE &l
9. ST =R Tt ¥ fiw W 2
(a) ILEHN oA (b) TG 3TN FX
() G Yo fmor (d) FTE &
10. 9 AT F =% WIer F 19 & S ST 22
(a) TrEaTET Hie R (b) WA dhea’ Hiew faeufa
(c) TESHTSTH, TSI (d) g HE, FvmH

11. TEH 2020 F qEd GHT WA H1S T4 U0 FHA1 =0
(a)‘\ qﬁww%w (b) (e (\'\(Eh_lgc_ N
(c) B & G99 &M &I dfdfsed ®2 (d) R1emei 1 oA HL

12. %9 91 7% 3HH ¥ S5p1g #1 eumae 983 % IEEe § Sigdr 22

(a) ==t OELIEIR
(c) HUTIE (d) U9
13. ¥RA 1 79 TR f6Y F21 S1ar &2
(a) SAFT GLEIAT (b) TS THHES T
(¢) ot THFST THEY (d) T faeee—<
14. TREL 3R @ A 69 wRdE qEsg 1 T #51?
(a) HUST (b) g4
(c) A& (d) fIs=Tr
15. Rremm™ s fOgE § s g 9 9ed §
(a) fRreror (b) HME A
(c) AT (d) =g &
I - II (S&ACHF 9D
16 %9 o 9% 11, 13 3 7 ¥ QUia: s 22
(a) 624624 (b) 624642
() 626646 (d) g &

17. T F¢ AR A F0d FL

3+{5—-5+ (6—7)%x8+9}
) 44+ 4 x4 +40f4 .
(b) (b) —
© (d) FrE T
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18

19

20

21

22

23

24

25

. The difference between cost price and selling price is Rs.221. If profit is 17%, what is

the selling price?

(a) 1521
(c) 1621

(b) 1721
(d) None

. The average weight of 45 students in a Veda class is 52 kg. 5 students left the class.
Their average weight is 48 kg. 5 new students joined. Their average weight is 54 kg.

What is the new average weight of the new Veda class?

(@) 52 kg
(c) 54 kg

(b) 53 kg
(d) None

. The sum of the salaries of ‘A’ and ‘B’ together is Rs.45000/-. ‘A’ spends 85% of his
salary. ‘B’ spends 70% of his salary. Their savings are same. What is ‘B’s salary in

rupees?

(a) 25000
(c) 15000

(b) 18000
(d) None

. Four cubes each with an edge of 6 cms are joined end to end. What is the total surface

area of the resulting cuboid?

(a) 450 cm?
(c) 425 cm?

(b) 475 cm?
(d) None

. In what proportion must sugar @ Rs.13-40 ps per kg. be mixed with sugar @ Rs.13-

65 ps per kg. so that, the mixture be worth Rs.13-20 ps per kg.

@9:4
(c) 67 : 66

(b)4:9
(d) None

. A man can row 27 km. with the stream and 15 km. against the stream taking four
hours each time. Find the rate of speed of the man per hour in still water and the

speed of the stream.

(@) Man 5% kmph., Stream 1.5 kmph.
(c) Man 1 kmph., Stream 5 kmph.

(b) Stream 5% kmph., Man 1.5 kmph.

(d) None

. A boy standing by the side of a railway track finds that an up train crosses him in 8
seconds and a down train crosses him in 20 seconds. How long (in seconds) will the

two trains take to cross each other?

(@) 15
(c) 13 Y3

(b) 13
(d) None

. Tap ‘P’ can fill a tank in 24 hours. Tap ‘Q’ can fill the same tank in 18 hours. Both
the taps are opened at 11 a.m. At what time tap ‘P’ be closed, so that the tank is full

exactly at 2 a.m?

(@ 5p.m
(c)4p.m

(b) 2 p.m
(d) None
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18.

19.

20.

21.

22,

23.

24,

25.

F9 God AR o ed % i F1 oA 221 T ¥ | AL I 17% ¥, af [ g 41 22

(a) 1521 (b) 1721
(c) 1621 (d) ®E el

I 1 TF FYH 45 BE| F1 A9d 796 52 [FSUM T | 5 BET A &1 SIS & | I A€
T 48 FIUM B | 5 U BT MG | ST 9T 9 54 FFAAW & | 1€ 95 Faq
T ST TS FE?

(a) 52 foam (b) 53 fam

(c) 54 foam (d) #E &

'A' 3R 'B' % A9 1 AT 45000/- TIA 2 | 'A' (9 Aq9 FT 85% @9 FLdT & | 'B' 319 I
FT 70% @ FLAT € | ST g9d GHE € | 'B' F1 99 €9 H el &2

(a) 25000 (b) 18000
(¢) 15000 (d) ®IE &

6 T fFR 91 R T4 F TF T A SIS G T F | IO T 6 Fe T G
A
T E?

(a) 450 T 2 (b) 475 Gt 2
(c) 425 TH 2 (d) g &

oo o o o_o o o_o

%.13-40 9 FFIM T == 1 ®.13-65 Ud RS <51 i F 1Y 59 gua |
e ST i e 1 9ed 13-20 ¥ 9id [ &
(a)9: 4 (b) 4:9

(c) 67 : 66 (d) ®IE &l

TF e 90 F IIFS 27 FHHL. qU1 910 F Wdge 15 [FHl. 9 9@ § T I IR 9 H
AT ¥ g | fOR S § saftw & 9fq 7 6t wfa qur g/ Y 1fq 5 5 e i |

(a) AT 5Y4 foRHt gl e, (b) 910 54 Tt ufa e,
g1 1.5 T i e | A 1.5 AT 9 =T |
(c) 7gea 1 fepeit wifer =i, (d) #IE &
U 5 TRHT 9fd Hel.

@ 3% F PR W UF ISF HI U1 Il & % T Y &7 39 8 e H UK FA § R
TH TS ¢ SH 20 THE H IR FA & | JF Al F TH-GI F TR FH A A 99
(T%E H) FIA?

(a) 15 (b) 13

© 131/ (d) #IE &
% 'P' T % Bl 24 U H W HHRAT & | 7 'Q' SEl % I 18 U H W FHT & | I 7@
GIE 11 T @ 9 & | 9% 'P' I 59 99 §% R S A, i $ S 2 w6 W
T ?

(a) 919 5 o (b) 9 2 o=
(c) IUE 4 o (d) ®E &l
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26. Two equal amounts were invested, one @ 4% and the other @ 4.5%. At the end of 7
years, the simple interest received from the latter exceeded to that received from the
former by Rs.31-50 ps. Each sum invested was (in rupees)

() 700 (b) 800
(c) 900 (d) None

27-28. The bar graph shows the number of students studying different Vedas — Rigveda
(R), Yajurveda (YY), Atharvaveda (a) and Samaveda (S). Study the graph and answer
the questions-

STUDENTS IN VEDA

CLASSES
250 200
200
150 100
100 50
50 30
0
A Sy \a \a
9 3 O N
© 3 N N
& X F 8
X\ ® x

27. By what percent the students of Samaveda are lower than the students of

Atharvaveda?
(a) 66.67% (b) 40%
(c) 15% (d) None

28. If the 60% of the students are college students, how many college students study
Yajurveda and Rigveda?

(a) 120 (b) 300
(c) 180 (d) None

29-30. Refer the following table and answer the questions given below —

STUDENTS
CLASS BOYS GIRLS
Sanskrit 40 75
Veda 100 25
Ganitam 60 50

29. What is the percentage of girls in Veda to the total number of students?

(@) 50/ 7% (b) 7%
(c) 10% (d) None
30. What is the percentage of boys in Sanskrit to the total number of students?
(@) 12% (b) 15%
(c) 5% (d) None
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26. T T TERET F1 7420 B30 70, TF 4% T AL GHA 4.5% W | 7 q9 F fd H, % T
QRT T I AIHR0T 1S, g1 UR1 9 I9 R0 sS4 31-50 &9 A o | fas $1 7E
TIF TRT (39 /) f

(a) 700 (b) 800
(c) 900 (d) HTE TEl

27-28. T WE AFE 331 - F99g, a9, AAdS, R HAG 1 AT FH IS BEI 61 GE&
T E | AF T AFT FL AR G401 % I 3-

4T FYAT H B

250 200
200
150 100
100 50
50 30
0
\s N \a \s
& N S &
& &
» ¥ N N
X\ Q <

27. QAT % faenfoe & dean srudag % feaieEi & dean | fFaw gl +1 2 2

(a) 66.67% (b) 40%
(©) 15% (d) FTE el
28. A 60% B HIGS & DA &, (had F(OS % B TIAG AN IS HT AFIT Fd & ?
(a) 120 (b) 300
(c) 180 (d) HTE TEl

-

29-30. fEfSTET AfFHT F1 ATSIHT FL AR A= 90 T y5i % I/ < -

e

BT
L2l IS FgHAl
HEFA 40 75
E 100 25
DIGE 60 50
29. 95 H F@ [AwEl | S<iHal w1 Giawd fhaen g2
(@) 50/7 % (b) 7%
(© 10% (d) #IE &
30. G&Fq ¥ To [l § s #1 qiazd T &2
(@) 12% (b) 15%
(©) 5% (d) #IE &
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PART-111 (REASONING ABILITY)
31 Identify the diagram that best represents the relationship among the given classes.
Professionals, Chartered accountants, Females

32. In the following figure, rectangle represents plumbers, circle represents essayists,
triangle represents drivers and square represents Asians. Which set of letters
represents Asians who are essayists?

Hi | c
B
NS
G
(a) EDB (b) IED
(c) ED (d) FED

33. Sita and Ram both start from a point towards North. Sita turns to left after walking
10 km. Ram turns to right after walking the same distance. Sita weights for some time
and then walks another 5 km. whereas Ram walks only 3 km. They both then return
to their respective south and walk 15 km. forward. How far is Sita from Ram.

(8) 15km (b) 10 km
(c) 12 km (d) 8 km

34. What is the wrong number in the series?
48, 24,28,36,72,180,540

(a) 48 (b) 28
(c) 540 (d) 180

35. Arrange the following words in a logical and meaningful order.
(1) Pupa (2) Death (3) Larva (4) Butterfly (5) Egg

(@53,124 (b) 5,3,1,4,2

(c)3,1,2,45 (d)3,1,4,2,5
36. Which is the different word.

(@) NITK (b) TIK

() TIH () ITS

37. Which pair is similar to the given pair.
Gossip : Exaggeration

(a) Girl : Sister (b) Dish : Food
(c) Smoke : Fire (d) Climb : Track
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VRT-I (T &7¥7T)

31 fXu 7@ =97t % 9 G F G99 TE) qAF 9 2 qS ARG FI T8 Fy,

N c o ne ~ .
QRIAY, dIZe 3D[3<<, HleAT

@ (b) @

(b) )

32. frafefaa el #, s 4O 1 32 &, 79 FEawn #1 e 8, B gRad 1 Sz
A

¥ S T TREE S0 F QA E | A& F1 % Q1 GYE 39 URMEE IS0 F ;@ § S

fegsR £2
H{ |
¢ B
L A
G
(a) s@ﬁﬁ (b) aﬂssa
(c) &S (d) THESl

33. T iR 9 Il SR fGzm # iR % fig § 9o & w4 ¢ | "iar 10 fFH wTod %
G 1 X TS & | TH 9 U TS F G 6 R TS ¥ | Hia T T q% TaR
FCA & AR R 5 Tt wodi & Soi% U9 F9¢ 3 (5 <o 2| 9 9 5 em-emw
T F1 IR T § oI 15 it ot = & | i v & frad g8 W E?

(a) 15 TeHt (b) 10 Fret
(c) 12 THT (d) 8 T

34. TGS H MHd Gl T &2
48, 24, 28, 36, 72, 180, 540
(a) 48 (b) 28 (©) 540 (d) 180
35. fREfeTad el *1 arfs® 3} qeF FH | Faredd w< |
(1) =1 (2) g (3) @l (4) faaet (5) e

(@) 5,3,1,2,4 (b) 5,3,1,4,2
(o) 3,1,2,4,5 (d) 3,1,4,2,5
36. %I G 55 AT 82
(a) NITIK (b) KIT (c) TIH (d) ITS

37. #H W S § T A F TEH 7 |
Gossip : Exaggeration
(a) S : T8 (Girl: Sister) (b) T%a™ : ¥S (Dish:Food)
(c) g3 : W (Smoke:Fire) (d) ¥eTE : ¢% (Climb:Track)
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38. What should be there in the place of ¢?’
601:584::329:7

() 307 (b) 923
(c) 312 (d) 485

39. ‘K’ is the brother of ‘X’. ‘Z’ is the son of ‘X’. ‘P’ is the daughter of ‘K’. ‘P’ is married
to ‘N’. ‘G’ and ‘X’ are sisters to one another. How ‘G’ is related to ‘Z’°?

(a) Sister (b) Aunt
(c) Mother (d) Mother-in-law

40-42 Read the given data and answer the following questions —

There are seven companies — A,B,C,D,E,F and G. There are seven applicants — Harish,
Sameer, Nilesh, Shailaja, Nithika, Lakshman, Sujatha. Seven different panels — I to VII.
Interviewed them for different companies i.e. A to G.

Nilesh is interviewed by Panel — IV for Company ‘A’.

Sameer is interviewed by Panel — III, but not for Company ‘C’ and ‘D’.
Harish is interviewed for Company ‘B’ but not by panel I or I1.

Panel VII has conducted interview for company ‘F’.

Shailaja is interviewed by panel — I, but not for company ‘C’.

Panel-11 did not interview Lakshman.

40. Shailaja is interviewed for which company ?

@A (b) G
(©F (d)D

41. Panel-V has interviewed whom?
(a) Harish (b) Nithika
(c) Lakshman (d) Sujatha

42. Who among the following is interviewed for company ‘G’?
(a) Lakshman (b) Nilesh
(c) Harish (d) None

43. Read the given data and answer the question given —
Many students of the local school fell ill for the fourth time in a row in the last six months
after consuming food prepared by the school canteen.

Course of action -

() The school management should immediately terminate the contract of the canteen and
asked for compensation.

(1) The school management should advise all the students not to eat food from the canteen.

(111 The contractor of the canteen should immediately be arrested for negligence.

What is the best course of action among the following?

(a) Only ‘I’ (b) Only ‘Il
(¢) Only ‘I’ and “IT (d) Only ‘I’ and ‘1T’
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38. '?' ¥ M W FAT &A1 AMEW?
601 : 584 :: 329 : ?
(a) 307 (b) 923
(©) 312 (d) 485
39.K, X FIMEZ1'Z, X MATLIP, KFFAZTIPHRTENAGET G K
TF g F T £ |G W 7 W T G 72
(a) 52 (b) =m=it
(© # (d) a4
40-42 T TTu eriwel w1 ¢ R frafefed 94 F W T -
o HUET € - A, B, C, D, E, F 3N G. |Id A€96H € - Uz, WA, =iorzl, 3,
fofreT, @ewur, GSran. | SASI-A U - [ 9 VII SSI-30 Hai-4) o A § G
% U 39 SMagH *1 TlaTcwr foan .
roraT 1 WETeh R Hot T Hfew @-1vV g foan 71 2 |
THR T HI&MewR -1 g1 foran 73 8, i ot 9 iR < & fou 78 |
TR T WLHR FHo1 o % U gen &, ofd 0@ 191 11 510 74 |
U9% VII 5 H91 'TF F o0 Hech it e ¢ |
ST o1 FI&Tch R Ue-1 g1 fodn T/ 8, i suei =t & fog =8 |
q@- 11 o BEHUT & FIGHN &l [ |

R
A
q

40. T HT AILTHR 59 FH % fou gam g2

@« (b) S
(c) T% (d) =t
41. U@ V ¥ fFa aner foar 22
(a) B (b) fafert
(c) F&HI (d) gSirar
42. FFafofea § 4 fFd St 'G' ¥ T Tnenesr & o 82
(a) B&HI (b) o
(c) B (d) HIE &

43. § ME TEFE F I AR U ¢ 971 71 I o -

T @@ F T B TGS w4 4 99X {53 T 9o @F & 915 Uz g 98l

H FIER = 9R FHR U M | FRAE & SN -

() ko TEHT H HH B AFHY G TAE HEAT AT 3 GATES 1 AN Bl
=M=y |

(II) Tk Taa= &1 T B F FIF G @EN | @H H GO S AR |

(IID) FEH % THIN H AR & fow T TR fFar s =z |

frafafaa § 9 gamg sEaE F#0 32
(a) %a@ I OEEIT
(0) FFF T AR I (d) FF@ T R I
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44. Sneha correctly remembers that her father’s birthday is before 16t June. But, after
11" June. Her younger brother correctly remembers that their father’s birthday is
after 13 June, but, before 18" June. Her elder brother remembers that their father’s
birthday is on an even date. What is their father’s birthday?

(a) 16M
(c) 14

(b) 12t
(d) None

45. The constable has been recommended a suitable reward by his superior in recognition
of his sincere duty and busting of several gangs of criminals, actively involved in the
loot and incidents of pick-pocketing. Which of the following can be a possible

assumption of the above statement?

(@) The superior is certain that the recommendation would be denied.
(b) The superior wants to set an example for his other juniors by recommending the reward.
(c) Rewards recognizing the sincerity and Accomplishment of police men are given

(d) None

PART - IV

(General knowledge on Veda, Sanskrit and Indian Knowledge System)

46. Who is Sanskrit grammarian?

(a) Bharavi
(c) Vyasa

47. Mahabharata contains -
(a) Varga
(c) Sarga

48. Ravana was a devotee of -
(@) Vishnu
(c) Narada

49. Which one is not an Upanishad

(@) Isha
(c) Kena

50. How many Vedangas are there?
(a)3
(c)6

51. ‘Shaunakiya sakha’ belongs to
(a) Rigveda
(c) Samaveda

52. What is ‘Brahmana’ -

(a) Collection of Vedic Mantras
(c) Commentary on Rituals

(b) Panini
(d) Valmiki

(b) Kandas
(d) Parvas

(b) Brahma
(d) Siva

(b) Katha
(d) None

(b) 2
(d)4

(b) Atharvaveda
(d) Yajurveda

(b) Explanation of Meditation
(d) None
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44.

45.

46.

47.

48.

49.

50.

51.

52.

#ET F 5% ¥ A ¥ FF 3T far w1 WA 16 S ¥ T ¥ OfF 1197 F 99 | 9%
BIC WIE &1 1% ¥ A5 ¢ % ST U =1 70l 13 90 % 915 €, S, 18 IF 4 = |
IHF T WE 1 AE ¥ 6 3 e 1 STeniew oW il # ¥ | 9% i w1 Sied w4 g2

(@) 16 *
() 14 7

(b) 12 ™
(d) =g &

FEETS HI SHE ANG AHN G SHH SAFGR F Y T SIS 3 GLUE I S=hadl i

TR | AR &Y 9 IMHS A9 F Fe

FEI M B | S wu ) Frefatea

fREl 1 VeTiE # & U Iugw TR F
H | BF-9 SIS TR0 2 gt 82

() IE =i faara & fp Rl i R w2 fon s |
(b) NS =TT & 36 o1 fow T Samewor Tt &% o o 1 TEhR I T % |
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(a) AR (b) =IO

(c) =™ (d) aTeHiTE
HeMRa ¥ fafefaa e & -

(a) (b) Fie

(c) & (d) 79
EURETCAR: S |

CYRERY (b) s&m

(c) g (d) =
F T IUFE T 2

(a) T3 (b) %3

(c) T (d) #iE &
I e €2

(@ 3 (b) 2

() 6 (d) 4
' T T e S g R -

(a) IeT (b) FE

ORIGES OEEEE
HTEOT 40 € ?
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(c) FHHIE T feoquft

(b) &9 I =ATEAT
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53.

54,

55.

56.

S7.

58.

59.

60.

61.

62.

............... is the moto of Indian Navy

(a) Satyameva Jayate (b) Sam No Varunah
(c) Aharnisham Sevamahe (d) None

How many Mandalas are there in Rigveda?

(@ 12 (b) 10
(c)11 (d) 108
This is not one of the characteristics of Puranas -
(a) Sarga (b) Vamsa
(c) Manvantara (d) None
PART -V

(LANGUAGE, COMPREHENSION - ENGLISH AND HINDI)

‘No one can write as neat as he does’ — Correct this sentence.

(a) No one could write as neat as he does  (b) No one did write as neat as he does
(c) No one can write as neatly as he does  (d) none

‘I am playing ... Tennis’ — Supply the correct word in the blank

(@ a (b) an
(c) the (d) none
“He was sitting ... Ramesh” — Fill up the blank with a proper word -
(a) besides (b) beside
(c) at (d) none

‘He is too stupid to be a teacher’ — This can be rewritten without changing the meaning as-
(a) He is so stupid that he cannot be a teacher (b) He is too stupid a teacher
(c) He was not stupid to be a teacher (b) none
What is the synonym of the word ‘MONOTONOUS’
(a) Mutual (b) Mollify
(c) Insurgent (d) none
What is the antonym of the word ‘SHREWD’
(@) Simple (b) Cunning
(c) Smart (d) none
‘Do not insult the weak’ — This can be rewritten without changing the meaning as -

(a) The weak are not to be insulted (b) Let the weak be not insulted
(c) The weak are insulted (d) none
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63.

64.

65.

66.

67.

68.

69.

70.

‘He is greater than me’ — This can be rewritten without changing the meaning as -

(a) He is not greater than |
(c) I am greater than him

T H Y FH 91 I8 TH HT I 82

(a) =9¥Y
(c) UNwg

FOT FNF &1 9% 91 €2

(a) =1

(o) A

Iz AGHN Tl 2 |
(a) BYHIT
(c) e

(b) I 'am not so great as him
(d) none

(b)
(d

(b)
(d

(b)
(d)

o

qNE @ dw T % ot fm R E TH GBI 1 oY

(a) U 7 UF o 3w {67 =0 €1 94 21 (b)

(© (a 3R (b)

‘TUIA ITAE FT SEh

(a) STIZ® TE1G
(c) I

AT 3758 F4T 82

(a) &<, 5, ¥H
(c) &, €M, 38z

fexur 31e] &1 TgAAA

(a) Texon
(c) T&wi

(d)

(b)
(d

(b)
(d

(b)
(d

EEBGLE

o o

ESICR R EE

FHWOT, FHI0T, TR
STl TS, SIS
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PART/MTT -V (Essay writing/ & &@9)  Marks/3® - 10

Write an essay on any one of the following topics not exceeding 100 words either in
English (Roman Script) or in Hindi (Devanagari Script), according to your choice.

[ N N e

frafefea @ 9 frdt t 9T 9 9t 16T F IgER T (YU foft) an &S (Iarm fof) |
100 T ¥ Hifvg ey e |

1) ‘Sanskrit literature is the storehouse of valuable knowledge —what are your views?
WEF AEA qgHeH T B HER T - T F1 =R &2

2) A challenging experience that taught you a valuable lesson.
T GATYOT T {18 9] U Hoda 99 Qe |

3) “Viksit Bharat 2047/ Ta&f{a ¥Ra' 2047.
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